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THE OPEN UNIVERSITY OF SRI LANKA

PROGRAMME

LEVEL 02 - FINAL EXAMINATION- 2013

BASIC STATISTICS & ECONOMICS - MCC 1103
DURATION - TWO (02) HOURS

Date : (1.12.2013 Time : 10.00 a.m. to 12.00 noon

General Instructions

1. Answer Two (2) questions from PART “A’ and TWO (2) questions from PART B’.
2. It is advisable to spend one hour for each part.

3. Provide answers for each part separately in separate answer books and hand over
them separately.

4, Graph papers will be provided.
5. Non programmable calculators are allowed.
6.  All questions carry equal marks.

Part A

Answer any two (02) questions.

(1) a) “Different countries employ different economic systems to find answers to
fundamental economic problems of these countries”.
Discuss above statement providing examples. (13 Marks)

'b) 1) What are the assumptions of Production Possibility Curve Analysis?
Explain.

i) How can the Production Possibility Curve Analysis be used to explain
economic growth? What are the major factors that create economic
growth of a country? Explain using illustrations.

iii) How can the Production Possibility Curve analysis be used to explain the
impact of technological improvement in one sector of the economy?
Explain using illustrations.

1



@)

b)

iif)

1i1)

Y

00200

What is meant by Increasing Opportunity Cost? Explain using Production
Possibility Curve Analysis.

(12 Marks)
The demand function of good ‘x’ is given as,
1 |2 |3 |4 |5 |6 |7 |8
q,136132128124120|16]12(8
v, — Price of "y’ q,— guantity demanded of 'x'

Derive the demand curve using the above data and calculate the slope of
the curve.

(04 marks)
Using illustrations explain how the demand curve of good “x’ shifts, if
following changes take place in the market.

Price of good ‘x’ increases.
Price of substitute product of good ‘X’ increases.
Price of a complementary product of good ‘x’ increases.
People’s income increases (Consider good x as a normal good)
(10 Marks)

What is the law of supply? Explain. (02 Marks)

~ The supply function of good “x’ is given as

.1 ]2 [3 4156 |7 |8

g,.| 1622283440 |46 | 52|58

B _— Price of 'x' q, — gquantity supplied of "%

Derive the supply curve using the above data and calculate the slope of the
curve. (04 Marks)

Using illustrations explain how the supply curve of good ‘x’ shifts, if
following changes take place in the market.
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(1)

e Price of inputs needed to produce good ‘x’ increases.
e More and more people start producing good ‘x’

0020,

(05 Marks)

Providing examples distinguish among the major four market structures (Perfect
competition, Monopolistic competition, Oligopoly and Monopoly) in relation to the

following.
1) Barriers to entry
i1) Number of firms

iii)  Nature of the product
iv) Pricing strategy

V) Advertising

Expand
(1) (Ba® + 4)?

i)  (2d® +b)

(ii1))  Find the value
(5.8)°

Factorize

(iv)  2x? +16x +30

v) 6a +9b +12ab + 8a°
(vi) 2y> —6y =8

(vil) 2x -2y =8

Part B

(25 Marks)

(25 marks)



(2) . The small coconut plantation named “Ranweli” is planned to be sold by its owners and
the coconuts produced by “Ranweli” in 2012 are given below

(a)
(b)
(c)
(d

3)

Harvesting Period Number of coconuts
February 3800
April 4100
June 5600
August 3000
October 2800
December 3050

What is the mean value coconut production of the harvesting periods ?
What is the highest, lowest and range of coconut production of Ranweli in 20127
What is the mean deviation in coconut production?
Assume that you have concentrated on buying a small coconut land. A small
coconut land named “Suduweli’ has an annual production very much similar to
“Ranweli” and but its mean deviation of the crop is 200 nuts. If the other factors
are similar to these plantations which land would you buy ? Give reasons.

(25 marks)

An entrepreneur approached you with his sales data pertaining to past few
months, and wanted to understand these data with a meaningful manner. You are
required to explain this person with the concepts of averages (arithmetic mean,
median and mode) and dispersion (range and standing deviation) of data, using
suitable examples, so that the entrepreneur will be able to extract information
from his data. (25 marks)
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